51.

52.

53.

54.

CHEMISTRY

Acetaldehyde and Benzaldehyde can
be distinguished by

A) Tollen's test

B) Fehling's test

C) Schiff's test

D) Oxidation

Ethanal undergoes a reaction in the
presence of alkali to give 3-hydroxy
butanal. The reaction is

A) Aldol condensation
B) Claisen condensation
C) Cannizzaro reaction
D) Benzoin condensation

The compound does not undergo
Cannizzaro’s reaction

A) Acetaldehyde
B) Benzaldehyde
C) Formaldehyde
D) Trimethyl acetaldehyde

0
H—(HZ—NHE %_) X; Xis
A) Amine
B) Aldehyde
C) Alcohol
D) Cyanide

LIPERCE D]
51. tfeafserRe sitevmfessed _ gwr

37T o <11 T B
A) AT qiegor
B) %hefem wew
C) hi% glieqm
D) SY=RA

52. 399e1 @GR (rFwe) Y Iuftufa § w
AR Fth 3-FIRgTad] sg¢a aar 81
srffere &

A) TEETE HOA
B) FoSH GEH
C) Hfem safsifsran
D) SisiTgd WerA
53. a8 Hfier s Hivemt safifsran 7€
A) tfteaiseris

S EERISHES
C) wilwigrds

D) Trsftrerds wReafiers

o]
T
54, R-C—NHQ%‘L—-) X; X%
2

A) a7

B) weeiersg
C) 3tcwhisel
D) GRS

saEECE

:
@collegedumas
India’s largest Student Review Platform



e ———— e ——— R —

e

56.

57.

58.

59.

is polyatomic molecule.
A) Calcium
B) Oxygen
C) Sulphur

D) Barium

Freundlich isotherm is a plot of log x/m

Vs it gives a straight line.
A) log P B) log K
c) ! D) log C
n
In Ostwald's process is

used as catalyst.
A) Ni
C) Fe

B) Pt
D) V,O5

Colloidal particies are charged can be
demonstrated using

A) Brownian movement
B) Tyndall effect
C) Electrophoresis

D) Dialysis

Bredig's arc method involves
A) Oxidation

B) Reduction

C) Condensation

D) Evaporation

Page No. 15

55. U agRAN AY R
A) SHfcaam
B) HTEHisH
C) "o
D) st

56. Hiew amgHid log xmast &
fer we e &) T Hiefi v S E |
A) logP B) logK
C) % D) log C

57. aleaies yfsan i, I H
wifel S B 2
A) Ni

C) Fe

B) Pt
D) V,05

58. Fcised Hu1 JANT §, T8 o
T ek WeRTd foRaT ST weh 81

A) st wifd
B) fésa e

C) SR[RITEIH
D) 3Tred

59. Mot __ _ dard
A) T

B) 1=

C) ¥

D) arsdieRtr
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60.

61.

62.

63.

65.

is a low spin complex.
A) Ni (CN),J% B) [Co Fgl*

C) [Ni Cl,J>~ D) [Fe Fg)*~

Oxidation state of manganese in
Mn (CO)g is

A) +5 B) +1

C) +6 D) O

Number of donating atoms present in
EDTA

A) 6 B) 5

C) 2 D) 4

Colour of V4* ion is
A) Green

B) Violet

C) Pink

D) Blue

Catalyst used in Hydrogenation
A) V,05 B) Fe
C) Ni D) Pd

Due to lanthanoid contraction
elements exhibit similar radii.

A) Zn & Hg
B) Zr & Hf
C) Zr&yY

D) Ag & Cd

Page No. 1

60.

61.

62.

63.

64.

65.

[@)]

e Fre w wE )

A) Ni (CN),J%~ B) [Co Fgl*~

C) [Ni Cl 1%~ D) [Fe Fg)*
Mn (CO)g # i it 3= ferfar 8

A) +5 B) +1

C) +6 D) 0
EDTA # 3ufera qaswal Wil %1
e e

A) 6 B) 5

C) 2 D) 4
VH A F TR

A) T

B) sl

C) it

D) e
TSRS § WFd I8H

A) V,0x B) Fe

C) Ni D) Pd
AATIE GFeH & FRU o g
Ecikuck]

A) Zn 3T Hg

B) Zr 3R Hf

C) Zrairy

D) Ag i Cd
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66.

67.

68.

69.

R-X+A—>RBNC+8B;A&B are
A) AgCN and AgX
B) AgNC and AgX
C) KCN and KX
D) NaCN and NaX

Cl

K |
@ NaOH —S23K , x HEL 4.
300 atm

yis

A) Aniline
B) Aldehyde
C) Ketone
D) Phenol

Phenol is converted in to benzene in
presence of

A) ‘anhy.AlCl,
B) Na,Cr,0,
C) Zn
D) Cu

RCN + SnCl, + HCI 0", RCHO.

Name of the reaction is
A) Stephen reaction
B) Etard reaction
C) Kolbe's reaction

D) Gattermann—Koch reaction

66. R—X+A > RANC +B; Al B %
A) AgCN 3R AgX
B) AgNC 3t AgX
C) KCN afR KX

D) NaCN afit NaX

Cl

67. NaOH

y 8
A) EieT
B) weSteTsS
C) $rm
D) TEe

68. T A asim g __  HrsaRfad
yfafda foram st 21

A) fie AlC,
B) Na,Cr,0,
C) Zn
D) Cu

69. RCN + SnCl, + HCl 9" _, RCHO,
s & A &
A) &5 sAffsra
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71,

72,

73.

74,

Reagent used in carbylamine reaction
A) CHCl; + KBr
B) CHCl; + KOH
C) NaNO, + HCI
D) KOH + 1,

Reducing sugar is
A) Sucrose

B) Cellulose

C) Maltose

D) Starch

Six membered cyclic structure of
glucose is called

A) Furanose
B) Pyranose
C) Galactose
D) Amylose

amino acid is aromatic in
nature,

A) Lysine

B) Serine

C) Tyrosine
D) Giutamine

Deficiency of Vitamin-Bg causes

disease.
A) Night Blindness
B) Beri-beri
C) Convulsions
D) Scurvy

;
&
E

70. HEITHIHTE SR 3 v ofeiE
A) CHCl, + KBr

B) CHCl, + KOH
C) NaNO, + HC!

D) KOH + I,

71. 3= WU &

A) g

B) e
C) ueer
D) &=

72. THE R S SeE e
FE B

A) RN
B) WA
C) s
D) wHTEE

73. T e wefr § Q0w &)
A) wERA
B) dii
C) TrtrfA
)R ALIE

74. Bafm-ByHiwha___ mamd
A) Tf¥ 3ivrar
B) s0-ad
C) &
D) weff
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75.

76.

"Eleé‘trolyte used in Ni-Cd cell

A) KOH
B) H,SO,
C) LiOH
D) Al,O,

For certain reaction, the values of A &
Eain Arrhenius equation are 4x10135-1
& 98.6 kJ/mol. If the reaction is 15t
order, at what temperature will its half-
life period be 10 minutes ?

A) 325.60 K
B) 311.35K
C) 300K

D) 510.05K

Two solutions of NaCl and CH;COOH
are prepared separately. The molarity
of both is 0.1 m and osmotic pressure
P; & P, respectively. The correct

75. Ni-Cd &« % Wy Rrega-aruered &
A) KOH
B) H,S0,
C) LiOH
D) Al,O,

76. T© sAtufwrmen & fore, sRfma gefie
H A 3t Ea & Wi 4x10138-1 st
98.6 kd/mol €1 afe sifrT em A Hr g @
e AT T gEeht a1ef oy 10 fe |t ?

A) 325.60 K
B) 311.35K
C) 300 K

D) 510.05 K

77. NaCl 3R CH,COOH % 2 faer arem-
3T ST I T 2 R T SWERT 0.1m ¥

R qawr <& AT P, 3R P, 81 v

relationship between osmotic pressure o % =TS @l H6y
is
AY Py =P,
A) P, =P,
B) P, > P, B) Py>Fp
C) P,> Py C) P,>P,
D) P-'?'-'Pz D) P1¢P2
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78.

79.

80.

81.

82.

Ethylene glycol + A —— Decron, A
is

A) Terepthalic acid

B) Hexamethylene diamine
C) e - Caprolactam

D) Melamine

Tranquilizer among the following
A) Seldane

B) Veronal

C) Paracetamol

D) Iproniazid

[Co (NHg); SO,]Brand[Co (NHz)5 Br]
80, are

A) Linkage isomers

B) Coordination isomers

C) lonisation isomers

D) Optical isomers

4HNO; + P40, — 4HPO, + X, X is
A) N,O,
B) N,O,
C) N,0
D) N,O,

Oxidation state of phosphorous in
orthophosphoric acid is

A) +5
B) +4
C) +3
D) +2

78. Eﬂ'lgaﬁ’ﬂlﬁiﬁa+A———>§§Fﬁ,A%
A) T It

B) deafiemseli s
C) e—Huicigen
D) femEa

79. f=fafiaa 3 @ wares 2
A) BeEH
B) S+t
C) wrifyemie
D) smgsAERe

80. [Co (NHg)5 SO,IBr 3R [Co (NH,); Br]
SO, §
A) Hgadi aaragdl
B) ax~=4t gl
C) it anmEgsl
D) Tw arTEasEt

81. 4HNO, + P,0;, - 4HPOZ + X, X ®
A) N,O,
B) N,O,
C) N,O
D) N,O¢

82. ATUTHEHING 3  Hehry & Iyuaw
feufa 2
A) +5
B) +4
C) +3
D) +2
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84.

85.

86.

For 2 N;Og — 4 NO, + O,, rate and
rate constants are 2x10-3 and 4x10™¢
respectively. Then the concentration of
N,Og at that time will be

A) 0.5x10™%
B) 0.5x1073
C) 2
D) 5

Faster a chemical reaction, smaller is
the

A) rate constant

B) concentration of reactant
C) half life

D) energy

In the preparation of Grignard reagent,
the medium used is

83. 2 N,O; — 4 NO, + O, & fig, s sl T
Frais wam: 2x1073 34 x 104 &1di 3w
wg N,O, #i wizan gnfl

A) 0.5x1074

B) 0.5x10-3
C) 2

D) &

84. rfirisrn foat 9w =i, _ 3
Bier gl

A) e

B) ifremti=i it wigan
C) sruig

D) Fi

85. firmre stiventie sHTG GHY SE AT §

A) ehige™

A) Alcoholic
B) Aqueous B) srefta
C) Ether C) ¥
D) Acid D) s
Benzene can be converted to toiuene 86. i = Teqed § EQURCInG]
by Fd 8
A) Wurtz reaction A) g1 Affsman
B) Fittig reaction B) fpfem anfirfsra
C) Wurtz-Fittig reaction C) gei-fefem arfufaran
D) Friedel-Craft reaction D) frem-we srhafsn
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87. Acetic acid is distilled with P205. a

strong dehydrating agent to get
A) CO, and CO
B) Alcohol
C) Alkane
D) Acetic anhydride

88. Aniline is used in the manufacture of

drug like

A) Aspirin

B) Cinnamic acid
C) Acetanilide

D) Salicylic acid

—  __doesnotundergo Hoffmann's

bromamide reaction.
A) Benzamide

B) Propanamide
C) Acetamide

D) Formamide

90. Hinsberg's reagent is

A) SOLCI + HCI
B) CgH5SO,CI

C) CHCI, + KOH
D) Hg,Cl, + HCI

3

¥

87. efafes armd F1 P,0, w% wiwmmeht

A) CO, 3 CO

B) 3rwhige

C) e

D) e wersges

88. G s s@T __ A afwfmt
A g 84

A) Yt

B) fmfhe anr

C) Wrefemse

D) dfcramsiaes sne

89. _  giwhafisivunse s s

ST
A) sSeTHIgE
B) WarmRES
C) tRrmrsg
D) winTEe

90. fEwenf 1 stftvds 2
A) SO,CI + HCl
B) CgHgSOLCI
C) CHCI4 + KOH

D) Hg,Cl, + HCI
P ikech

:
@collegedumas
India’s largest Student Review Platform



92

93.

94,

85.

96.

In the coagulation of a negative sol.
the flocculating power is in the order

A) AIR* > Ba2+ > Na*
B) Al** < Ba2* < Na*
C) Ba2*+ < Nat < Al3+
D) Na* > A3+ > Ba2*

Van Arke! method is used for removing
oxygen and nitrogen present as
impurities from metals like

A} Cr B) Fe
C) Ni D) Ti

Formula of Zincite is
A) ZnS B) ZnCO,4

C) ZnCl, D) ZnO

Percentage of carbon in pig Iron is
A) 1 B) 2
C) 4 D) 3

Which of the following reaction in blast
furnace is endothermic ?

A) 2C+0, —, 2CO

B) CaCO; —— CaO + CO,

C) C+0, —— CO,

D) C+CO, — 2CO

4HCI + O, —— 2Cl, + 2H,0.
Catalyst used in this reaction is

A) V,05 B) MnO,
C) CuCl, D) P,05

91

92

93

94

95

96

. U RUTCHE Qe & Thed |, HvA wifed
&+ w0 3 Bt B

A) AR+ > Ba2* > Na*
B) AR+ < Ba2* < Na*
C) Ba2* < Na* < AR+

D) Na* > AP+ > Ba2+

cam o fafy S e
¥ argfeal % v § ufdm sifwdiem i
TGS i g & T Tga Bt 2l

A) Cr B) Fe
C) Ni D) Ti
. P wgat
A) ZnS B) ZnCO,
C) ZnCl, D) ZnO
 F AR A wEA G ®I
A) 1 B) 2
C) 4 D)3

. a7 wE A Freforfaa § @ wia-df st
FETEE @ ?
A)2C+0, — , 2CO
B) CaCO3; —— Cal + CO,
C) C+0, — CO,
D) C+CO, — 2CO

. 4HCl + O, ™ 2Cl, + 2H,0 5@
iR # wge Ik i
A) V05 B) MnO,

C) CuCl, D) P,0;
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97.

98.

99.

100.

Crystal system of CuSO,.5H,0 is
A) Triclinic

B) Triagonal

C) Cubic

D) Tetragonal

Molal depression constant =
RXM1 X sz

1000 x A, H

1000 X AfH
RXM, x T2

1000 x A,,,,H

) RXM, x "f',2
1000 x AH

A)

C)

In a cubic lattice each edge length of
the unit cell is 408.6 pm and density
of the unit cell is 10.5x103 kgm=3, At
weight 107. The crystal lattice is

A) FCC
B) BCC
C) CCP
D) Primitive

Octahedral complex among the
following

A) Ni (CO),
B) [PtCl )2~

C) {Fe (CN)gl*
D) [Co (NH3)gI3*

e,

97. CuS0,.5H,0 #i forezet worreft &
A) e
B) Fiviig
C) Wiy
D) Sgshiofta

98. iy e Fraais
AXM, x T, 2
1000 x A, H

RXM, x T;2
1000 x AfH
1000 x A, H
RXM, x T;2
1000 x AH

99, UF UHIT ST § TS RN FH TE

T &t o 408.6 pm 37k T FRTE
FETT 10.5 x10° foomy -3, ik 107 R
rew wes R

A) FCC

B) BCC

C) ccP

D) yifies

A}
B)
C)

D)

100. fF=feiRaa § & sreherhi wtem &
A) Ni (CO),
B) [PtCI,}>
C) [Fe (CN)gl*
D) [Co (NH,)g3*
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